
3 + 4 = ____

1 + 0 = ____

0 + 4 = ____

2 + 3 = ____

5 + 4 = ____

6 + 1 = ____

4 + 2 = ____

2 + 1 = ____

1 + 5 = ____

4 + 4 = ____

2 + 2 = ____

5 + 3 = ____

Adición horizontal 
(Sumandos al 5, Sumas a 10)

Adición

Nombre: 



6

3

8

6

4

8
RB

3 + 4 = ____

1 + 0 = ____

0 + 4 = ____

2 + 3 = ____

5 + 4 = ____

6 + 1 = ____

4 + 2 = ____

2 + 1 = ____

1 + 5 = ____

4 + 4 = ____

2 + 2 = ____

5 + 3 = ____

7

1

5

4

9

7

CLAVE DE RESPUESTAS

Adición

Adición horizontal 
(Sumandos al 5, Sumas a 10)


